CHAD VALLEY 3 FT TABLE TOP FOOTBALL TABLE
ASSEMBLY INSTRUCTION

Item number: 935/3514

If you have a problem with this product, we want to help. For
immediate assistance, please phone: 0871 226 2034




Parts

#1 #2 #3 #q
D
o (I, -
1/4" > 1-1/8" Bolt 1/4" Washer Tool 1-1/2" Round head screw
20 pieces 20 pieces 1 piece 10 pieces
#5 #6 #7
i‘”“‘-&,"’
[[):smm (> RSy
T

7/8" Flat head screw

3/8"Round head screw

Slide scorer

Rod handle

4 pieces 8 pieces 2 pieces 8 pieces
#9 #10 #1d #I2
Rod end cap Side panel End panel Playing field
8 pieces 2 pieces 2 pieces 1 piece
#13 #14 #15 #16
Playfield support brace Leg A Leg B Leg panel
1 piece 2 pieces 2 pieces 2 pieces
#17 #18 #19

1 Home players rod

2 Home players rod

3 Home players rod

4 Home players rod

1 piece 1 piece i piece 1 piece
#21 22 #23 #24 #25
1 Away players rod |2 Away playersrod | 3 Away playersrod | 4 Away players rod Soccer ball
1 piece 1 piece 1 piece I piece 4 pieces

WARNING:Choking Hazard--Toy contains small balls and/or small parts.Not
for children under 3 years,
-Caution! Adult assembly required.
-Sharp point on screws; unpack and assemble with care. Keep small parts and
polybag away from children during & after assembly, You will heed a wrench
and screwdriver (not included) to assemble.

IMPORTANT!

Please Keep Your Instructions. Before attempting assembly,please read through this
instruction book to familiarize yourself with all the parts and assembly steps.We

recommend that two adults assemble this game.Please refer to the Parts List above
and be sure that all parts have been included.

1




CHAD VALLEY 3 FT TABLE TOP FOOTBAILIL TABLE
Step 1:

Carefully turn the side panel (#10) upside down and
slide the home and away team rods (#17-#24)
into the pre-drilied holes in the order shown in the diagram.

> 1 HOME PLAYERS ROD #17

? 2 HOME PLAYERS ROD #18
> 3 AWAY PLAYERS ROD #23
2 4 HOME PLAYERS ROD #20
. 2 4 AWAY PLAYERS ROD #24
° 3 HOME PLAYERS ROD #19
\ "2 AWAY PLAYERS ROD #22
T AWAY PLAYERS ROD #21
Step 2:
Slide the playing field (#12) upside down into
the grooves of side panels {#10).
Slide the player rods through the remaining side pans! (#10}).
#10




CHAD VALLEY 3 FT TABLE TOP FOOTBALL TABLE

Step 3:

Secure the unit together by fixing the end panel (#11) to
the side panel (#10) and the piaying field (#12) using screws (#1)
and washer (#2). Repeat at the other end of the table.

Step 4:

Using screw (#4) fix the playfield support brace {#13)
between the side panels (#10).




CHAD VALLEY 3 FT TABLE TOP FOOTBALL TABLE

Step 5:

Secure A and B leg (#14 and #15} to the side of
the table using screw (#1) and washer (#2).
Aftach leg panel {#16) to the assembled legs
using screw (#4).

Step 6:

Carefully turn the table over and attach
slide scorer (#7) to the table end via
the pre-drilled holes at the end of
the table using screw (#5).

Slide the rod handies (#8) onto
the player rods and attach
using screw (#6).

Please make sure to seclre
the handles at the end of

the rods with the pre-drilled
holes.

Finally, add the end caps (#9)
at the opposite end of
the player rods




